EANRAROBESIFRT — 2 N—ZABISH—F 2020518308 () 13m)IB4H

M EEHE C3 H¥7%—#H% ‘ (X W ‘ [Ershl] — | & (%) %000 &

[A&£] 1 7% :800,000  ~ 23&:304,000  ~ 33 :200,000H 43 :120,000 " 5 & :96,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
R _ s A _ =gEr__ %
1 7l 7o-y7rzaoys i 7 E’Z_”(‘)Jr :ze_; 11-4-3 [ 37.0 3 <5+384) E‘}?\'iﬁ%&é“%)
R:T7HoHx> 0 BN ITE—IL FHE%S
SR 47 | Wit 56.2 4-1-1 38.3 — 1 472 | ABH— (1)
217|l9|7AIVER—5— 54.0 (3/4) ) | EE—
L:74NVKZy>a B:Fdy KR—%2— EBRT7—L
- N AR -4 - FOE( (aF)
315]5 TAING gL X % 4 54.0 5(74')0 s %5 ! :?g) $HAT R
LTANNTTFHF— B4 F -kl BMEX &Y K
HATHE -8 = I (1)
a1l 7z70—%2 i 7 54_0'_ﬁ 5(73.)6 4-8-8 |38.8 7 <4+732) s
L7274 5—T714>7 B:Kx-—TT71T7)— NIVEY RN T7— L
S, K3 st o4 | HERES 57.7 222 |39.6| — 5 435 | REEE (fafE)
5/8[11| Y —¥h3x% 6.0 (172) Co |EEBE
R:bE-—XT—F— BITYIETL RIS
. P = s 7 | B 57.8 2-6-6 |39.2| — 2 459 | FEHE— (/1)
EE 2| 7% R4 —T ¥¢53.0 (1/2) “7) (%) BEZMR
:74H0 B:TANX—THEXY IR E e
- = B4 | BEXXK 58.0 8-7-7 |39.0| -— 10 | 418 |fEBEISC (1)
7078 | TF=T 47U — 54.0 ) o) |HEmS
R:FHYTTIIRE BFavIA)— BEXZY K
S 4 5 | BOLE 58.2 8-9-10 |38.7| — 1 458 | WWEER (1)
g|8l10| E-E=TE—L 54.0 3/4) C |EEES
RE—E-—HILE> BE-E-FyNn—> b tie ]
. f 5 | EHE 58.3 10-11-9 | 38.6| — 6 445 | FEMMEX (J11IF)
9 4| ALKF 54.0 (1/2) (+5) | FEHHRED
RANXRTNG BiA—-TvaTL—4 R4S
© FREZ . -10- . = EaARZ (JI1E)
10 3| FU=LZ7)ZX< X ie 54.0 (2581/82) o) 9.5 o (4+312) INAE T
LHIRTTFZX B:RY—LLA2R— 2EHS
> EEA -3- - FEEE (M)
1 6 Loty F— T4 56.0 (578&?) 154 0.9 8 (4_773) EREE
R:b—t>ya—4> B:22=Z4F7V E:sbae]
® 1 —F—EBIERL
13=7r=
23 =7= 6,(2,11),(1,5,9),3, (8,10) ,4,7
Gal=7r= 9,11,6,(5,7),2,8,1,10,3,4
41—+ — 9,11,7,6,5,2,8,1,4,10,3
[ N3
BB 7 390M 714K 7-9 190H e 6-7 350M 3JEHE 5-7-9 1,840H
8 B 7 150M 5-7 950M B 6-7 920M K31 7-9-5 7,570
9 110 5-9 700M B E 7-9 340
5 340H B H 7-9 800M

ARICOVWTRDTEEERROODE. TR LI,




